
INSTRUCTION MANUAL FOR 
LE GRIDDLE 

FREESTANDING CARTS 

GFCART40 (1 door)

GFCART75 (2 doors)

GFCART105 (2 doors)

For the latest news and product updates, please visit: LeGriddleUS.com

PAGE 1REV. 04/15/2024



Hardware packing list

No Components Picture

Q’ty

GFCART40 GFCART75 GFCART105

1 Top panel 1 1 1

2 Bottom panel 1 1 1

3 Door handle 1 2 2

4 Rear panel 1 1 1

5 Door,left 1 1 1

6 Door,right 0 1 1

7 Door inner 1 2 2

8 Side panel,left 1 1 1

9 Right panel, right 1 1 1

10 Trim piece 2 2 2

A M6 Screw 28 31 32

B Door axle 1 2 2

N1 M6 Nut 27 29 30

C Self tapping screw 22 29 30

D Self tapping screw-flat top 2 4 4

E M4 screw 4 4 4

N2 M4 Nut 4 4 4

F M8 screw 2 2 2

G magnet bracket 2 2 2

H Rubber grommet 1 2 2

M Magnet,negative 2 4 4

W Casters with brake 4 4 4

PAGE 2



X 1

2

X 4

W

X 16

A

X 16

N1

PAGE 3



9

8

2

X 1

8

X 1

9

Front side

X 4

A

X 4

N1

PAGE 4



9

8

2

4

X 6

C

X 1

4

A

C

N1

X 3

A

4X

GFCART40：X 2

GFCART75：
GFCART105：

N1

X 3

4X

2GFCART40：X 
GFCART75：

GFCART105：

PAGE 5



109

810

4

2

X 8

C
10

X 2

PAGE 6



2

4

10

9

8

1

X 4

A

X 4

N1

X 1

1

N1

A

A C

C

X 3

4X

X 2GFCART40：
GFCART75：

GFCART105：

PAGE 7



`

Ⅰ

Ⅱ

Ⅲ

LEFT

5

X1

7

X1 X1

3

X 2

A

X 6

C

X 2

D

X 2

M

C

D

A

M
PAGE 8



RIGHT

6

X1

7

X1 X1

3

X 2

A

X 6

C

X 2

D

X 2

M

A

Ⅰ

C

Ⅱ Ⅲ

D

M PAGE 9



X 4

E

X 4

N2

G

X 2

2X

GFCART75：
GFCART105：

G

GFCART40： X 2

GFCART75

GFCART105

GFCART40

PAGE 10



B

N1

B

X 2

2X

X 1GFCART40：
GFCART75：

GFCART105：

N1

X 2

2X

X 1GFCART40：
GFCART75：

GFCART105：

PAGE 11



``

`

LEFT

RIGHT

Ⅰ

ⅡⅠ

GFCART75

GFCART105

GFCART40

GFCART75

GFCART105

PAGE 12



X 2

F

For griddle assembly

H

X 2

2X

X 1GFCART40：
GFCART75：

GFCART105：

H

F

PAGE 13




